AQA/

Teacher Resource Bank

GCE Accounting
Candidate Exemplar Work:

o ACCN4 Sample Scripts and Commentaries

Copyright © 2008 AQA and its licensors. All rights reserved

S
charity (registered charity number 1073334). Registered address: AQA, Devas Street, Manchester M15 6EX
Dr Michael Cresswell, Director General.



Teacher Resource Bank / GCE Accounting / Candidate Exemplar Work: ACCN4 Sample Scripts and Commentaries / Version 1.0

ACCN 4 Sample Answers and Commentaries

Introduction

Below are candidates’ answers to selected questions from the second Specimen Question
Paper for ACCN4*. They have been marked in accordance with the second Specimen Mark
Scheme for ACCN4 ** document.

The answers have been selected to reflect a range of attainment and for each a commentary
has been produced by an experienced examiner, to offer some guidance as to where
candidates have scored marks as well as areas of improvement.

*This document does not contain complete question papers, only selected sample questions.
**A copy of the corresponding mark scheme can be found under 2009 Additional Specimen Papers via the following
link: pp79-88: http://www.aga.org.uk/qual/gce/accounting_trb_new.php
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Question 1 ACCN4 (Second Specimen Question Paper)

S.H Matt runs a manufacturing business. Finished goods are transferred from the manufacturing

account to the trading account at cost plus 40%.

The following extracts are taken from the two most recent balance sheets.

Balance sheet At 31 March 2007 At 31 March 2008
£ £ £ £
Stocks
Raw materials 12 468 10980
Work in progress 8647 9946
Finished goods 29 876 31 906
Less provision for unrealised profit 8 536 ?
21 340 ?
REQUIRED
@ Prepare a balance sheet extract for stocks, having calculated the following:
@ (i) the provision for unrealised profit to be included in the balance sheet extract at
31 March 2008;
@ (i1) the cost of the closing stock of finished goods at 31 March 2008. (7 marks)

(b)  Calculate the provision for unrealised profit to be shown in the profit and loss account

for the year ended 31 March 2008.

(3 marks)

(c) Outlinetwo reasons why S.H. Matt transfers goods to the trading account at cost plus a

profit.

(4 marks)
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Commentary: Candidates A-C

In the new ACCN4 question paper, the candidates have to use the skills identified in this
guestion to produce a balance sheet extract for stock.

In Question 1(a) candidate A correctly calculated the provision for unrealised profit but then
added it to the finished goods value. There was no working for the cost price. Raw materials
and work in progress were correctly stated for both candidates A and B. Candidate B used the
correct approach to calculate the values except he used the wrong fraction in both instances.
Candidate C incorrectly stated the 2007 figures for raw materials and work in progress. The
correct approach was used to calculate the cost price of finished goods, but this was incorrectly
stated as the provision. There was no separate working for cost price.

In Question 1(b) candidate A correctly calculated the profit and loss account entries. Candidate
B used his own figures and was awarded marks accordingly. Candidate C had mistakenly
misread the question and had calculated the value of stock at 31 March 2008.

Question 1(c) was poorly done by all three candidates and the only mark that was awarded (to
candidate B) was for saying that a transfer price identifies factory profit. The other answers
illustrated a lack of knowledge.
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Question 4 (ACCN4 Second Specimen Question Paper)

Halls Hampers Ltd manufactures a single product. The company is located in a deprived area of a
city. The year ended 30 May 2007, was a difficult year with the factory only operating at 60%
capacity. The company needs to raise £80 000 to cover debts.

Additional information for the year ended 30 May 2007

Selling price per unit £40
Annual salesin units 12 000
Variable cost per unit £12
Overheads (of which £18 000 is variable) £256 000

Orders have been received from two new overseas customers. However, only one new order can be
accepted. Whichever order is undertaken, a new overseas agent will be required at an annual cost of
£14 000.

Order JJH

For 6000 units for atotal invoice price of £180 000.

A delivery charge will be payable of 2% of the selling price. Modifications will have to be made to
some of the factory machines at a cost of £19 000. Consequently, some of the staff will need to be
retrained at a cost of £8000. Future orders from this customer are almost guaranteed.

Order JHB

For 8000 modified units for atotal invoice price of £256 000.

A delivery charge will be payable of 2.5% of the selling price. Extratemporary staff will be
required at a cost of £28 000. Once the order is finished, these staff will no longer be needed. No
further orders are expected from this customer.

For the year ending 30 May 2008 there are not expected to be many changes to the sales price or the
amount of overheads. However the variable cost is expected to rise to £14 per unit.

The new order chosen will be in addition to the current level of sales.

1
AQA/ Copyright © 2008 AQA and its licensors. All rights reserved. 7




Teacher Resource Bank / GCE Accounting / Candidate Exemplar Work: ACCN4 Sample Scripts and Commentaries / Version 1.0

REQUIRED
(a) Distinguish between fixed, semi-variable and variable costs. Give one example of each.

(6 marks)
(b) Define the term * contribution’. (2 marks)
(c) Calculate the total contribution for the year ended 30 May 2007. (4 marks)
(d) Calculate the break-even point in units. (4 marks)

(e) Prepare comparative profit statements for each new order for the year ending 30 May 2008.
(14 marks)
(for quality of presentation : plus 2 marks)

(f) Discuss which order Halls Hampers Ltd should accept. Give reasons for your choice.
(10 marks)
(for quality of written communication : plus 2 marks)
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Commentary: Candidates D-F

In Question 4(a), candidate E scored full marks as the definitions were full and complete. The
clear layout of prose answers on this paper is to be encouraged. Candidate F also scored full
marks on this part of the question. Candidate D scored 2 marks for both definitions and
examples of fixed costs and variable costs, but this candidate could not distinguish between
semi-variable and variable costs sufficiently to score any marks.

In Question 4(b), the definition of contribution required not just a calculation, as shown by
candidate F, but also identifies that once fixed costs are covered, profit is then made, as shown
by candidates D and E.

In Question 4(c), candidates D and F both scored full marks despite using different approaches.
Candidate E lost a mark as variable costs of £1.50 were ignored.

This mistake was carried onto Question 4(d), so an own figure mark was awarded for
contribution. However, the candidate did lose a mark due to the incorrect rounding of the units.
Both candidates D and F correctly calculated the break-even point.

In Question 4(e), neither candidate D or E included the business name in the heading. The
heading used by candidate F is complete. Candidate D included the cost of £1.50 in their
contribution calculation but omitted it in their profit statement. An addition error in the profit
calculation lost a mark, however an own figure mark was awarded for order JHB as it was
arithmetically correct despite the omission of the £1.50 x 8000. Candidate E incorrectly added
the delivery charges and included the fixed costs as extraneous items which lost the own figure
marks for the profit. Candidate F combined all the variable costs, but as the workings were
clearly shown in order JJH, marks were awarded. In order JHB, the candidate originally had a
sales figure of £180,000 (ie the same as order JJH), the variable and delivery costs were
calculated based on this incorrect sales figure. The candidate later realised their mistake and
altered the sales figure but unfortunately failed to amend the delivery and variable costs. Two
marks were awarded for QWC as the heading was complete for candidate F.

In Question 4(f), the better prose answer by candidate F used the correct accounting
terminology to explain the points and used information from the scenario and previous
calculations to back up their arguments, which were all were clearly developed. At the end, a
clear recommendation was made. Points were not repeated and generalisations were not used.
The answer was clearly presented.
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